Subject: Re: PndKinVitxFitter. Does FitAll() work?
Posted by Ralf Kliemt on Fri, 28 Mar 2014 14:29:49 GMT

View Forum Message <> Reply to Message

Dima Melnychuk wrote on Fri, 28 March 2014 15:20

PndKinVtxFitter vixfitter(etac_vtx[j]);
vixfitter.Fit();

RhoCandidate *etacfit=etac_vtx[j]->GetFit();
k1 = etacfit->Daughter(0);

k1 is fitted or not?

k1 is fitted.

To understand this concept: The decay tree is copied internally. The fitted tree can be
accessed via one call of GetFit(). Then you navigate in the fitted tree via Mother/Daughters

relations.

Cheers
Ralf
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